KOGMANGI
RN avor7ITVY—IN

KSHPYU—-X
WWEHEH% Ver. 4.0

IHRAERESBE VLTV EEZEHIFEITEVET,
ZERAOREIC. Z

—RUEREIR

K, HELE D DD BT ED S VSIS [ B e
HIN— 1 ETRELTLES N, EX ROy RADK, i HED
& OITERPEBVBICLIRIBLLY, HarEauET,

R

1. Y3y o777 V- EXb>OyRORDLTEREZFRD
REFPPSEVLIICE)F T EEW, ROUFEL HH D
EWEBSLIUERAROERELYET,

2. “/3\/777"‘/—/\"EZﬂEJ«JLEtﬁlJL“EYUT‘J‘H’C RUNEEH % £
F3&5LERAEIGFIEETT, BL. Y3 v 97T V—
NPHEICATRER T BHRICHBL T IV,

3. WEExvy IR IN—Fvy T EFERATZHEE. A0V
SRTHR Yy TICHEN DLEEVLIIC IRy /XFyh (-S) ZE)
T30 HAEB RNy INEEZ T TLLEE 0,

BEH BIEX vy THE XMy INF YR S) ElE, ARy /Y
PWHESTHERTEETY. REBFFEALETEX vV TOER
PEFEICSIELETEIEDYET,

4. BEEROBAIC.HEAME IVITTI—NOEIREN &
TIRAEIZ.KSHP14X12(AEM14) LITFTTIE1° LT,
KSHP16X15 (4 #EM16) LI ETIE3° LI T ELTLEELY,

5. IN—F+u 7RI RAEPREEBERLEOEAT I 1D

FERDOGZEIE. KiRT/N—D N7 BB T 3RIEEMY HVE
THOTTEELLL,

6. JavITTV—NERIMIBIHE. TaoD&AEM M MLI%E
FoTHWMIFTLEZIV, ZhUEDOATRHEO T B ERIET
BEHEM D B ET

Nem
falH1x wAMT LT
M6 X 0.75 0.85
M8 X 0.75. M8 X1 25
M10 X 1 6.5
M12 X1 8.0
M14X 1.5 12.0
M16 X 1.5 20.0
M18 X 1.5 25.0
M20 X 1.5 30.0
M25 X 1.5 42.0
M30 X 1.5 60.0
M36 X 1.5 72.0
M42 X 1.5 85.0

7. a3y IT7TV—NOEAM OyRICEEY-2EOBE G
HRc40I EICL T AV W E X v v T . T/ —Fvy T ft
1<)

8. FRBEICLY. BE
Y,

9. IN—FyyILEEBRTT FRRRICLVEGIERY
FTOT. RKMICEDETTHBRULTLLEEL,

NBELVEHENEDNETDOTITEBLE

X582215 Ver.4.0

DIBAEE LCHFALAE ELK RS, #, ZOBURBPAR I ATIREL THEL,

WRUNEEAI DFRIER
1. KSHP10~KSHP420154 11, %/ TOKv— v £EE

g AEDF

DBICEHE TL/ZE Y, KSHP6,KSHP8DIHE
—BICERD6EEHE TS,
2. BROBEOEENIKRZIVGE
BEFRVES
3. AEIRTLES
ELTLEE L,

X, TNVAMNOA—-TFTBETDH

3. RAICEBROEENICLTLES L,
CHTOY IR LUERDAATIHE J2E

(KSHP6,KSHP8 %[ <)

HEE0~6
RARINEESIHE : %6
R/INRINEETRF : BEXO

w”~Y—
K=V EHRBRICEDE TRE

BE20~6 (RE/ D)
RAIRINEE /RS : HEE6
=/NRINEE IR - B %O

FEDF—F
¥ BICEBEEEHETHE

OO vIRLDTE (mm)

KSHP10~14H KSHP16~42H
M2x0.4 B
[Te] /
q
(@]
d ) )
N )

j@% )

x5 A B
KSHP16~18 1.3 |M2.5X0.45
KSHP20~42 1.5 |M3X0.5

KZOfh, FEMA TS LOEESEICEAL CdHhE2OI 2SR T<E
SN

KEEFRERDOGE AR ANO— I T AL IR ES
T BT HEICTHERRL TS,

HEGRICATIBMVWEDBIIRE OB ZERTE/I1E, T ol
P—EZ L EZ—ABBVEHELZE,

1‘5F‘t§1‘:|::|7:l*‘(

Bifit—EXt 42—
TEL<042)383-7172

ERBEVETD

KOGRANEI



X582215 Ver.4.0

KOGRANEI

Adjustment Type Linear Orifice Shock Absorber
KSHP Series

\ Instruction Manual \ Ver. 4.0

Thank you for purchasing this Koganei product.
Before using it, be sure to read this manual and make sure you use it correctly.
Keep this manual in a safe place for future reference.

General precautions

Cover the unit when mounting it in locations where it might be subject
to excessive dust, dripping water, dripping oil, etc. Dents, scratches,
water, oil, or dust on the piston rod results in damage and decreases
service life.

Mounting

1.

Mount the shock absorber so that the load contacts at the
center of the rod, and it is not subjected to off-centered loads.
An off-centered load could result in breakage or defective rod
returns.

Two or more shock absorbers can be mounted in parallel, to
boost absorption capacity. In such an arrangement, however,
be careful to ensure that the load is evenly absorbed by each
shock absorber.

If using a shock absorber with a plastic or rubber cap, always
mount a stopper nut (-S) or an external stopper to ensure that
the cap is not subjected to loads at the stroke end.

You can use a shock absorber with plastic cap without a
stopper nut or external stopper, but over the long-term, the
stop location changes due to cap deformation and wear.

For swing impacts, ensure that the angle of eccentricity
between the load direction and the center line of the shock
absorber is at or below the specification values shown as
following. For KSHP14 X 12 (outer diameter M14) or smaller
models, 1°or bellow. For KSHP16 X 15 (outer diameter M16)
or larger models, 3° or bellow.

If using a shock absorber with a rubber cap for lateral
impacts, such as eccentric or swing impacts, note that the
rubber cap may come off or be damaged.

When mounting the shock absorber, always use the following
maximum tightening torque guidelines. Tightening using
excessive force may result in damage.

Nem
Thread size Maximum tightening torque
M6 X 0.75 0.85
M8<0.75. M8 X1 2.5
M10X 1 6.5
M12X 1 8.0
M14X1.5 12.0
M16 X 1.5 20.0
M18X1.5 25.0
M20 X 1.5 30.0
M25 X 1.5 42.0
M30 X 1.5 60.0
M36 X 1.5 72.0
M42X 1.5 85.0

. Ensure that the hardness of the surface directly impacting

the piston rod of the shock absorber is over HRc40
(excluding models with rubber or plastic caps).

. Be aware that performance and characteristics change

depending on the operating temperature.

. Rubber caps are consumable parts. The service life will vary

depending on conditions of the application, replace these
parts according to their condition.

Adjusting the shock absorbing capacity

1.

@ Lock screw dimensions

0.25

For the KSHP10 to KSHP42 models, align the red mark on the

adjusting knob to the 6 on the scale. For the KSHP6 and KSHP8

models, align the 6 on the scale to the key slot on the body.

. For large impacts on collision or if a long time is required for a
full stroke, reduce the value on the scale gradually.

. Always tighten the lock screw to fix the knob in place after

completing adjustment. (excluding KSHP6 and KSHP8)

Scaled from 0 to 6
Set to 6 on the scale for maximum absorption
Set to 0 on the scale for minimum absorption

Red mark
Align the red mark to a value on the scale

Lock screw
Adjusting knob

Scaled from 0 to 6 (adjusting knob)
Set to 6 on the scale for maximum absorption
Set to 0 on the scale for minimum absorption

Key slot on body

Align a value on the scale to the key slot
(mm)

For KSHP 10 to 14 For KSHP 16 to 42

M2x0.4 B

i) - w

d B
Q ) )
A -
Model Symbl] A B
KSHP16 to 18 13 |M25X045
KSHP20 to 42 15  |M3X05

* For other details about specifications and precautions, see the catalog.
* For custom models, detailed specifications and stroke dimentions are different

from standard models, so please confirm the drawing.

* For inquiries about the product, contact the Koganei overseas department at the

number below.

KOGRANEI

OVERSEAS DEPARTMENT
3-11-28, Midori-cho, Koganei City, Tokyo 184-8533, Japan
Tel: 042-383-7271 Fax: 042-383-7276

KOGANEI CORPORATION

6/'16 KG



